

Republic of the Philippines DEPARTMENT OF HEALTH PHILIPPINE CHILDREN'S MEDICAL CENTER

Quezon Avenue, Quezon City 1100

website: www.pcmc.gov.ph email: officeofthedirector@pcmc.gov.ph

Trunk Line: 8588-9900 to 20 Direct Line: 8924-6601

NOTICE OF AWARD NOA-2024-119-005

LUNARMED PHARMA TRADING

59 A Ordonez St., Conception Dos,

Marikina City

Tel No.: 0931-1002-850

Email Add: lunarmedgladyslirios04@gmail.com

Dear Sir / Madam:

This is to inform you that based on the result of the Public Bidding conducted on August 2, 2024, for Various Pharmaceutical Supplies CY 2024 under Invitation to Bid No. IB-2024-060, as per BAC Resolution No. R2024-08-490, your proposal was found to be the Lowest Calculated and Responsive Bid (LCRB):

ITEM DESCRIPTION	TOTAL AWARDED AMOUNT
Various Pharmaceutical Supplies CY 2024 (see Annex "A" for detailed specifications)	Php267,544.00 :

Terms and Conditions:

- 1. The prices of the awarded item(s) shall be valid until December 31, 2024.
- 2. Conforme on the attached Terms of Reference, if applicable
- 3. Staggered delivery, staggered payment.
- 4. Delivery Schedule: Within Seven working days upon receipt of Delivery Order Slip.
- Drugs and Medicines to be delivered should have expiration of at least one (1) year and longer or as expressed/required by Pharmacy Division.
- 6. The quantities specified are estimated requirements during the period and may be decreased depending upon the actual need of PCMC. It is understood therefore that PCMC is not bound to order / purchase all the items / quantities called for on this Notice of Award.
- 7. The supplier should submit Materials Safety Data Sheet upon initial delivery, if applicable.

FORM OF PERFORMANCE SECURITY	AMOUNT OF PERFORMANCE SECURITY (Equal to Percentage of the Total Contract Price)
a) Cash or cashier's/ manager's check issued by a Universal or Commercial Bank	Five percent (5%)
b.) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank	Php13,377.20
c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Thirty percent (30%) Php80,263.20

Kindly disregard and report any form of solicitation using the name of the Executive Director and/or the PCMC. These unsanctioned requests are unlawful and will not be tolerated.





	ITEM			AIOH MgOH susp bt 225+200mg/5mL, 120mL	LUNARMED PHARMA TRADING				
SET	NO.	<i>QTY</i> 504	bt		Brand, Packing, Specification, etc.		Manufacturer	UNIT COST	TOTAL COST
A					AlOH MgOH susp bt 225+200mg/5mL, 120mL	GASTROCIN .	Drugmakers Laboratories Inc	50.00	25,200.00
A	9	500	bt	Amoxicillin Trihyd susp bt 100mg/mL, 15mL	Amoxicillin Trihyd susp bt 100mg/mL, 15mL	MOXYLOR	Diamond Laboratories Inc.	19.00	9,500.0
A	10	600	bt	Amoxicillin Trihyd susp bt 250mg/5mL, 60mL	Amoxicillin Trihyd susp bt 250mg/5mL, 60mL	AXMEL	New Myrex Laboratoties Inc.	32.80	19,680.0
A	14	400	bt	Azithromycin susp 200mg/5mL 15 mL	Azithromycin susp 200mg/5mL 15 mL	ZIKANT	S KAN Healthcare Limited	83.00	33,200.0
A	18	900	cap	Cefalexin Monohyd cap 500mg blister/foil pack	Cefalexin Monohyd cap 500mg blister/foil pack	EXEL	New Myrex Laboratoties Inc.	4.00	3,600.0
A	24	1,000	cap	Cloxacillin Sod cap 500mg blister/foil pack	Cloxacillin Sod cap 500mg blister/foil pack	CLOXANE	Uni Medicolabs	3.00	3,000.0
A	27	2,700	bt	Cotrimoxazole susp bt 200mg + 40mg/5mL, 60mL / 70mL	Cotrimoxazole susp bt 200mg + 40mg/5mL, 60mL / 70mL	KATHREX	New Myrex Laboratoties Inc.	25.00	67,500.0
A	40	8,000	cap/ tab	Folic Acid 5mg blister/foil pack	Folic Acid 5mg blister/foil pack	FOLIZ	Fredun Pharmacueticals	0.80	6,400.0
A	57	1,400	amp	Oxytocin amp 10iu/mL (IM,IV)	Oxytocin amp 10iu/mL (IM,IV)	AMBYTOCIN	Ma' Anshan BBCA Pharmaceuticals Co. Ltd	10.00	14,000.0
A	59	980	bt	Paracetamol Alcohol Free syr/susp bt 250mg/5mL, 60mL	Paracetamol Alcohol Free syr/susp bt 250mg/5mL, 60mL	ALAGESIC	Diamond Laboratories Inc.	27.80	27,244.0
A	65	20,000	tab .	Sodium Bicarbonate 650mg tab	Sodium Bicarbonate 650mg tab	BICARNATE	Azarias Pharmaceuticals Laboratories	1.50	30,000.0
A	76	420	bt	Zinc Sulfate drps bt 27.5mg/mL, 15mL	Zinc Sulfate drps bt 27.5mg/mL, 15mL	IMMUNOSAP H	Enicar Pharmaceuticals Pvt. Ltd	23.00	9,660.0
VAT-	EXEMPT								
В	15	13,000	tab	Furosemide tab 20mg blister/foil pack	Furosemide tab 20mg blister/foil pack	GENERIC	Drugmakers Laboratories Inc.	0.80	10,400.00



	ITEM NO.	дту	UNIT	ITEM DESCRIPTION	LUNARMED PHARMA TRADING					
SET					Brand, Packing, Specifi	ication, etc.	Manufacturer	UNIT COST	TOTAL COST	
В	19	12,000	tab	Metformin HCl tab 500mg Film-coated blister/foil pack	Metformin HCl tab 500mg Film-coated blister/foil pack	GLYCYMET	Hebei Tiancheng Pharmaceutical Co. Ltd	0.68	8,160.00	
						Gl	RAND TOTAL =	Php	267,544.00	



NOTICE OF AWARD NOA-2024-119-005 LUNARMED PHARMA TRADING

Failure to provide the Performance Security shall constitute sufficient ground for cancellation of the award and imposition of penalties/forfeiture corresponding to the Bid Security posted.

Very truly yours, 18 / Le real SONIA B. GONZAYEZ MD, MScHSM, MPM
Executive Director
Conforme:
This is to certify that the company has authorized me to accept this award, sign all related documents and hold the company bound by rules and laws applicable thereto.
I further certify that I have chosen the following mode (as checked) as the form of retention money required of us under R.A. 9184 Sec. 62.1.
[] Bank Guarantee
[] 1% Deduction from claims on the first payment for staggered deliveries
Authorized Signatory
(Signature over printed name)
Designation
Date

Kindly disregard and report any form of solicitation using the name of the Executive Director and/or the PCMC. These unsanctioned requests are unlawful and will not be tolerated.

